CONTRACT Law-II

Answer all MCQs - 30 Marks

1) Suresh enters into Contract with Ramesh to compensate against the
consequences of any proceedings which Kamlesh may take against Ramesh in
respect a certain sum of 5 lakh rupees. This is

a........ HHCTIRAITITEU 5l akh T RIS IR H AR ATS i TR T H el AT U ATR AR ]
ST RO B T AT TSR TS U AR AIINR. Te.......... FEUTdTd
a) Contract of agency USledIATRIR

b) Contract of Indemnity AT HIATSAT FIR

c) Contract of Guarantee EHIRIR
d) Contract of Insurance fa#mRT

2) Obtaining a person’s consent to act as a Surety by keeping silence as to
material circumstances, renders such a contract----Hgearedl IRFEIAT degel Al
S5 TEIEAT ShFI §HIGR FgULT HHcH fAosdell 31, ¥ 3T Hl........... 3r|dr

a) Valid e

b) Invalid 373%

c) Voidable  [=IehuATSIIET

d) None of the above aehIFEIEATE!

3)Where a contract to give time to the principal debtor is made by the creditor
with a third person & not with the principal debtor which of following is
applicable..... ST AR HETR U ATA B UATATHINE ALY T F AR IS AT TOTH T UTehT
SUASREATET, IRMIR T TGTH ATA I AI[3TE.

a) The surety is not discharged gHIGRINHFATBI
b) The surety is discharged gHIGRIAHFIATBIA

S

AN

c) Principal debtor is discharged aj{sqalzqu‘lagdrddlsld

d) all of the above a¥rerd

4)Which of the following is not applicable for the dissolution of firm by

notice? = AT HEIRATINGIHEATAIN BRI TATHTS W TP TRIUTATI A AT ATE 2
a) The partnership must be at will ¥=&H HENERT JTOT IETF 3Te

b) The partnership must be Particular. T #refigrRT 3r@mEr.
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c) Notice must be communicated to all partners. Td HRNERAT A& el
SO 3TaeTh A,

d) Notice must be explicit & final AT ¥gse HOT HTAH HHOT HGTF A
5)Which of the following cannot be the ground for compulsory dissolution of the
partnership firm? &R F€d 3fAagur AacsT aoar A1 Tleitel Uehl HIoTd
FROT 31 A ATE?

a) By the adjudication of all the partners as insolvent

IGEIRICEIESSE LI AR I IRy

~

b) By the adjudication of all the partners except one as

insolvent TeHadladraddNGR  fAviagan  fearear
c) When the business of the firm becomes illegal. Sicgr  #mafierdr Exd=m
ST Y gidr

d) By the expiration of the partnership term. HREfGRIEEAdFeTadIaIoTr

6)Voluntary transfer of possession of goods from one person to another is

called ............ TehT TSI hgel GE-AT SUFH S FHTel TE AT ST FEATART

a) Actual delivery —drEdTdehidaror

b) Symbolic delivery UcThlcHh a0

c) Constructive delivery TdeATcH AR

d) all of the above adrerdd

7)"Which of the following is not an Implied Condition? @TellerdehTerIUTcIE I3R!
a) Condition as to Title AfRIgFRaUHTasT
b) Condition of Merchantable Quality STIRIIUTE=N3E
c) Condition of sale by Sample FHATARTIHIIIC
d) Condition of quite Possession fafdeaAqoYr arar 3gstemoT

8)"Anil hires a horse in Calcutta from Sunil expressly to march Delhi. Anil rides
with due care, but marches to Mumbai instead. The horse accidentally falls and is
injured. Who is liable for the injury to the

horse? aﬁﬁdnﬁchcqnch%d|uqN—i|8|a+|§dcq|q<§d"|c4qn§\o1u‘|5|t)d‘|.

ATITIRIBATFATIRIRA!, TN TS THTSHSATIITHTS AT
S

ST GAISATIOTSTEHSTAT. ENSTeATGETI A IUTSISTSER3TE ?
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a) Anil

b) Sunil Feirer

c) Both equally glegraaTeT

d) None HIofigi=Tgr
9)'The following person is competent to make the pledge..dRUT daUATH Wlellol
Sl HETH 3Tg.

a) Owner or a person with his authority HTcIhfhacATATIRAPRITEIFAT

b) Mercantile agent #FFhesaTIC

c) A person in possession under a voidable
contract YFIHRUGTARTHINIA AT A Ied el

d) all of the above adrerdd

10) Atul instructs Ramesh, a merchant, to buy a ship for him. Ramesh employs a
ship surveyor of good reputation to choose a ship for Atul. the surveyor makes
the choice negligently & the ship turns out to be unseaworthy & is lost. In such a
case who is

responsible?  3TIeRARRITCATI AT CATEATATOTSTB STEN G R U AT oTe TG .

N

TSI STETS AT STATHTS RART AT SSTATSRTATA&TUThATTShTHTAISI AT,
HAETUTehcl el SehTa S T UTT ol TS e T 3TTTOTS R ToT 3R TG TH T H AT G e A HTTOTE e .
RIS ATTIGRHIUT?

a) Ramesh is responsible to Atul 3T Jidelell ST 3e

b) Ship surveyor is responsible to Atul.

STRTSTHAGTUTh AT 3T el eTSTSTSIGR3Te

c) Ramesh & Ship surveyor are responsible to Atul.
HAITOTSTG T HATUTeh 3T elelTSTSTSIGR 3T

d) Atul himself is responsible for the loss. euoj,wld“u-lﬁglc%qd:
SRR3R,

11)An agency is not terminated by operation of law in the following

case TICToIhT HIUTAT JhR HIeTl-dd TSl AT FYSed A el
a) Agency becoming unlawful T8l dHRRIGA STeAT .
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b) Death or Insanity of Principal or
Agent HIddﬂlﬂl%dlU\ﬂcwﬂcﬂ\Haﬁﬁmﬁ
c) Insolvency of Principal #ATelhriicara@y
d) Expiry of time fixed for the
agencyUT=HIaTSI S el cAThIeTa eI HHATCAT,

12)"A partner is not entitled to receive remuneration for taking part in the conduct
of the business of parnership. This provision is ARTGRIE HINERITAT STTATATT AT

a) Subject to the Contract between the Partners.
AT ERIAL TRIRTATIERN .

b) Subject to the contract between partners and third
party. R3O AATETATRRIIIENA3TE.

c) Subject to the contract between partners and creditors.
AR AT A RATTATEF T h RT3,

d) Subject to the direction of the registrar. fAatrhrEAAERTTHR.

13)"A firm that continues after the expiry of the term is called as ... [QUCED
Heoll TSN Tidehel NI NENIEEAT Hed H9edT el dre] Afgel, foer

a) Partnership at will ¥aHdTINGRY

b) Particular partnership faQIwameiiery

c) Limited partnership #ZTGAHTINGRY

d) Limited liability partnership #3ifederRcasmafierdr

A continuing guarantee may be revoked as to future transactions by
AT cdagRIB RATddd g A AR O AR,

3)  GHAEHUTHI A TATC S

14) The historic case laying down the test for determining the existence of

Partnership is /qéTerdehIaNeRIAN T Edca (A ReudenoaraTd! Cfgashecrniord?
a) Grave v. Smith/ Jgfaeay
b) Bloream v Pell /sliRI#AAY
c) Mingh v. Carver/ A, R
d) Car v. Hickman /#Rfa. e
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15) Where there is an unconditional contract for the sale of specific goods in a
deliverable state, the property in the goods passes to the buyer when_

(SNSRI RO UG 3 A RIS AT AT ST I N 3 e A A EHEA 3T

A HATTAATEREIGRIFSTA gl

a) The goods are delivered to the buyer. /aEJEREIGRIAEGSITAT.
b) The price is paid by the buyer. /fFATEREERATEN3TE.
c) The contract is made. FIRFBATIR.

d) The buyer accepts the goods /EREGRIFIFAHR!

16) A seller delivers goods in excess of the quantity ordered for. The buyer

may__/ TEIEIdshalHSTehel cATI AU AT aE i dcidenial. TREGRehald

a) Accept the whole /HqUTESHRT
b) Reject the whole. /HYUTATHRT.

c) Accept the goods ordered for and return excess.
AT T TATREI A RTATOTSITG TR e

d) Accept goods as per requirement. /3-|Id‘\’€-l°hd\°j_,{-llid{-d‘\{-d'\lchlil.
17) Baldry V. Marshal is a leading case relating to /dTealcar.
AT T TR H G IUTHTE

a) Fitness for buyer /[@GIGRIATOIAEIAT

b) Sale under a patent or trade name/ UcclhalcATIRTEATATETE SN [AshT

c) Consent by fraud /wqug\qnqwdéﬂd"l

d) Resale of goods /aENgATdsh!

18) Unless otherwise agreed, the goods remain at seller’'s risk until-

a) The goods have been delivered to the buyer ATERIEIGRIATCUATAINATIE

b) The goods have been utilised by the buyer ATRERGIGRIHATIRT3TE

c) The price to the goods has been received by seller
AT R AT she AT ST ITCTSTe 3T

d) The property therein has been transferred to the buyer

AT THTIAATER G G RIh g T R UATA Tl 37T
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19)An agreement in restraint of trade in a partnership of under S. 11 of the
Indian Partnership Act, 1932, is - SRAIHARENGRIGRIGT, 1932 TIT Hcdd 11

a) Valid. a.

b) Voidable.  {egeriuamred
c¢) Void. cg

d) Invalid. 3194

20) Under the provision of the Sale of Goods Act, SEJIdsh! HRICATEAT TGN,

a) Delivery of the goods must always be made before payment of the price
AT g g RO E 3

b) Payment of the price must always be made before delivery of the Goods
EES BRI I PG L R IEE B B LI L N EICRSE X 1

c) Delivery and payment are always concurrent condition faferegdl 3mfor dae &r
e gEadt feud e

d) Delivery and payment are concurrent conditions, unless otherwise agreed.

g3 O AcTAadRERRd, TAHEAdITIT.

Answer all Descriptive Questions - 30 Marks
1. What is Unpaid Seller’s Lien? o #RelcllAshcdTATaRUT IhRETSCHIT.

2. Dheeraj and Co. is registered as a partnership firm in 2015 with Mr. A, Mr. B and
Mr. C as partners. In 2018 Mr. A passed away. In 2019 Mr. B and Mr. C sue Mr. Z in
the name and on behalf of Dheeraj and Co. without fresh registration. Is the suit against
Mr. X maintainable? Give valid reason. Explain essential elements of partnership under
Indian Partnership Act,1932. €iITaT 30T &usil & #REMGRY % FguA 2015 AL T,
TATANTOITAEE. HEIERFEUTIGUIha3e. 2018 e, fAFT T #TUMEer. 2019
A AT N O AT T AT A ST ATATATa AT RS AT O Tt e aTd cleteTd eTol IG U T IATIGT
Jrhell. A A e e U@ TR ASIVITANTIRH? ANTISRRUGAT. HRAIHTINGRIRIET,
1932 HANTAHRNERITNIITRTCHETSCHNT.

3. Mr. Ratan sells 1000 kg of fruits to Mr. Jatin and sends him Railway receipt.

When Mr. Ratan is still unpaid, he comes to know that Mr. Jatin has becomes insolvent.
When the goods are still in transit, Mr. Jatin assigned Railway Receipt to Mr. Yogesh for
clearance of goods. Can Mr. Ratan stop the goods in transit? On which principle the
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above situational problem is based? #T Id=T 4T SAfa= JAT 1000 TFeil ®es [ahara 3O
I Yeal qracdl Iroadrd. AT Idel 3ofelel TR SAT8Id deglcdisll shobel i A SAfel
AR el 3Med. STegT AT JS[eiel SIfesic ALY §idT, ool 4. Siciied Tfslr ATeedT Hd
IS AT AT IIeT Yod raeht fEell. A Il ATl agehlel UTag Aehelldd HI7aliel TRIEAAITT
JATIT HIUTAT dedray IR 318?

4. How is a contract of indemnity different from a contract of guarantee? /

egqoa|da<q|éu| FIR FAT HUT Y&T JITedT HAT 3T ?

5. Amit runs a business & he admits Bhushan also in the Business, subject to the
conditions that Bhushan will not invest any money in the business &, Bhushan in lieu of
profit will get a salary of Rs.5 lakh p.a. Bhushan will hot have any dealing on behalf of
the business & he will also not be liable for any loss. Is it a Partnership Business? 3ff&d
SIGHT Al 0T HWOTCT STGHATT 4F FAGUIR ATEN JHOT BT Seedld §NTel
ArITEEIY IR e asT RS A1 IEAHR $IYUTell T SIGHRATT IHTel Ll .

ST o 3 UTeh UT R [e A d N eI UTIATR AT OTcA T eh U TS 1R U TR Tl T ST T G RATgOTR AT
BTATAIHRENERI3TRH ?'

6. Write the facts and the principle laid down in Collin v. Wright/ Siferet faecy Tse

ALY fofgere T a2 3nfor dca foen

7. What is meant by ‘Nemo dat quod non habet/ aRScfFasaicdgae’ FgUTsl FHII?
8. Explain the contract of guarantee. gHITIT HIRT degel <rar felgr

9. Define bailment, explain kinds of bailment. STl FgoTa HA? AHATATRRATI.

10. Discuss in detail the mode of termination of agency. USl=dl HHICA FUITAT
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